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Reteach
Grade 4 • Chapter 6 Divide by a One-Digit Number
48
31 ÷ 6 =
15.
45 ÷ 8 =
14.
23 ÷ 6 =
13.
30 ÷ 7 =
12.
18 ÷ 5 =
11.
25 ÷ 3 =
10.
33 ÷ 4 =
9.
47 ÷ 8 =
8.
19 ÷ 9 =
7.
21 ÷ 4 =
6.
57 ÷ 9 =
5.
27 ÷ 5 =
4.
9 ÷ 2 =
3.
43 ÷ 5 =
2.
17 ÷ 4 =
1.
Divide. Check each answer.
So, 37 ÷ 3 = 12 R1
There is 1 left over;
1 is the remainder.
Each group has 1 ten and 2 ones, or 12.
Divide 37 equally among 3 groups:
2
Find 37 ÷ 3.

1 Model 37:
Remember that sometimes a number does not divide evenly.
When this happens, there is a number left over, called the remainder.
Divide with Remainders
Lesson 5
Name 	 Date 	

